Year 3 Maths – Multiply a 2-digit number by a 1-digit number. 
1. Follow this link:  https://www.bbc.co.uk/bitesize/articles/zb4gcqt
2. Go through ‘Learn’ and watch the videos available. 
3. Go through the practise. 

Activity 1 – Online ‘My Maths.’ 
· Go through the numbers on the left and answer the questions given. 
Activity 2 – Worksheet is below. 
Activity 3 – Worksheet is below.




Long Multiplication help for Activity 2: 2. Look at your ‘One’s’ column. 
You are going to multiply 8x3 = 24. 
24 is made up of 20 and 4 or 2 tens and 4 ones. 
We are going to put the 2 tens underneath the tens column and the 4 under the ones column. 

Question 1:3. Look at your ‘Tens’ column. 
You are going to multiply 8x9 = 72. 
72 is made up of 70 and 2 or 7 tens and 2 ones. 
We are going to add the 2 tens we have underneath the tens column making 74. 
We don’t have another column to multiply, so we place the 4 into the ‘tens’ column and move the 7 into the ‘hundreds’ column. 
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1. Look for your ‘Multiplier.' 
This is the number you multiply by. 
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1) Jean-Luc used base ten to represent 31 x 3. He got 62 as the answer. Can you spot his mistake?
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2) Diana has completed this calculation but Wesley says that this cannot be the correct answer. Who do you agree
with? Explain your reasons.
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1) Use these numbers to solve the problems below.

You may need to use some numbers more than once. For each question, you should always use one
number from each group in your calculation.
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‘@) Write a multiplication calculation with an answer that is one less than 100.

b) Write a multiplication with an answer that is less than 45.

Write a multiplication calculation that does not need an exchange and has an answer that is an even number.

d)

Write all the multiplication calculations that do not need an exchange and have answers that are odd
numbers.

2) Use these numbers to make multiplication calculations that do not need an exchange. How many different
calculations can you write?
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1) Complete each calculation to match the representation shown.
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2) Draw place value counters on

ch place value chart to represent the correct calculation.

42x2= 32x3=

a) Tens Ones b) Tens Ones

3) Use place value counters or base ten to find the answer to this calculation. Then, show the answer as column
multiplication.
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